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C) mweir + [Bedemeo d) mwsei + Geoeweo

e) efenL egMwelisosneo
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75.

76.

77.

78.

79.

80.

81.

82.

83.

84.

85.

86.

Hstreugpeuemaumhmiet Saupnerauhenmns CsiHeSE0.

1 apaofler SmsasneuLi Soaunbsrd Seueud
OLIHENLDMWS FomIBnE|.

2. mphllwreoLni BLRwred ewslurL $HmSeSmesurLi
agTems Bewg eliflssis sanSna.

3. 855 Buei(G HITOSEMETULD HQLILIEDLWITSES \&HTesT®
Bs&S1pINed HHSESMETTLIT LTmewrd SwbHmriLrLg).

4. GzsSpmT 12-pb BIDHOTeTenLE CaFibSeuT

a) 1,3 b) 2.3 c) 1,2

d) 2,4 e) elewL afwstleoemnso

‘aumeTmed JMISHE SpeD’ aeTug Hreomuly Seueflwils

NILIBSSSET 618ENETTILITEUS] LITETLDMNEGLD?

a) 590 b) 5ot c) e90

d) eot e) elewL afwstleoemnen

sneflfluflelr LNengEWedeLND LpeMflud BaMEvGmE Jp&HTSH

efleurfiliLigy erg1?

a) mreonuiy SeveflwinAguBSD

b) ewlwygmewnb

C) Smeflewemwmpgrewrid

d) &omiymnesond

e) eflenL egfweiisosneo

GaaBpnT Gemp pFeht QUewTLND & Ge0ms gimisevfleor

Siemeuudied ShHaut Lissofl wing?

a) seevEmLDLILjEO6IT b) Sirsssemsst

C) wsevemDEST d) Bswemwssi

e) eflenL egMwellsdsneo

HstTaugpeuemammieT OILINBHSTS R6Tenns CoITHESBSHSLD.

a) sewswlin b) GunGsiy C) euemetr

d) Simeriiuest e) elewL afweleoemnsn

LfsorfiLbev LIGTNATeIL ET6TENILD SpHIH6D MHITEMED ETAUDSUIEUIT WIMT?

a) egmetr GuimsLl b) efeoeusBeond

C) sgmebTLIGtTUI6ST d) eflebeSluid gmies

e) eflenL egfweiisosneo

REITCM ..ocevreririnenne eT6tTn) S(hP uLpeuGs LDevflELILIETITLIMGLD.
a) oo b) @emb C) @ewnb
d) eLb e) eflewL O Mwefleoemnen

L6l &&aUTESIT ETHSLI LITEUTIQUI LDETEOTELLD HHeWDSFEFTmaLI
uewflwimbnewtmi?

a) GevGssLILeTITIQUIGH

b) SigefizmmpliLmesoneuiest

C) Sfiigsee Limesomouisst

d) emEGEesPwes

e) eflenL egMwellsdsneo

augjeneaiuiledr eneTOIWen S(HHS DMHST - Slie&HGsHTQLL
61&M60E0l60T EILIM(BEIT 6T60T60T?

a) Swewid b) 2 esbd C) &meold
d) wdeom mait e) eflewL agMwstleosmen
“Qeue\mone Smansngew”’ Simeflwert wmi ?
a) me&mi b) s&9eGseur

C) aeveomGaeuit d) ugewGseuit

e) eflenL egMweiisosneo

aurefll eTEITLISET EILINIHET S(HS.
a) Geir b)
d) eumiens e)
SH(HHEIGEUDET - BEVEHEWIHSDILIL| S(HS.

c) empuuli
sflewL Q\5iflweedened

cu6oT(®

a) ueTILSASTEDE b)
c) e_MsnsmeansLi d)

DIl FIaLH oY
sflemevtpbm)
e) eflenL egMweiisoeneo

87.

88.

89.

90.

91.

92.

93.

94.

95.

96.

97.

98.

99.

100.

“18ems; gwiisfenid eflggieus: GamLibiom! B
Opern 2 enrs®Gem uniue SeCwGer” - eeIm il

WITIHEMLILG|?
a) @eoGsammpeunit b) vuneGsndupesiieur
C) ysssmbeui d) eumieswmpeunit

e) eflenL egMwelisdsneo
el wIBOSHS SMTUL euedIsH®m - Sueufurmesr
unLevig&erlled LisLpLILIGLD BTG e1817?

a) Geumn® b) GempmnG

C) unesnEUIBTG d) esneamemL BNG

e) eflenL egMwelisdsneo

aiflouemen O\emfibg WpSHHeir SLALOLBLD OUMEBLILY WMTIUT -
Slig&BHMQLL E\&FTE060I65T CILITIH6IT WITE)?

a) omed SifésrG b) smieC) Ggebr

d) uessmb e) elewL asfwstleoemnsn
AUMEDSWTDAUNT eTHEDeT H&HO efleneEsns O\&HTamdBsS
S(HLDTENEL CUETIITRIBEDIITIT?

a) b) sLed C) sdeustt

d) Beoey e) eflewL agMwstleosmen
SABSOLIBLD Caeeflullesnet - @G JiesBSMQLL 61FTed
SMIHGSLD OWINIBET Wng)?
a) mrfewett b)
c) @ewmeusit d)

TBIT6D 6)6DEDITETT
BEOLSHSHTLGOTIT

e) eflenL egMwelisdsneo

umehGend apevileur ekl LADBSMT?

a) SoCabhan® b) Swmwenssn®

c) &smp d) waeen

€) eflenL egfwefisosneo

& eTeTEYILD E1FTED HIBLD EITAHET WITF)?

3) mUseT BMWSLD b) eugeommy

C) ambsms d) GesnGesmeT

e) eflenL e\gMwelisdsneo

ETLLITLD SBLPEMD WIMTTED LIMLLILILLG]?

a) s b) wressanss
c) Bmepeort d) Gssdpmi

e) eflenL egMwelisdsneo

Smaans eflBSSID LImeuIeuT Wmi?

a) mibwmpeunit b) Guwmpent

¢) SowPesumpant d)  SmLuTewmDeuT
e) eflenL egMweiisoeneo

Netreuqbld wimt LiedTesllqh SHpewMaEHsT CHEUTILD LITLTS6UIT
Dbeui?

a) SmEnesbLLEST b) swmEneyssnsi
C) amsmt d) newnfssanssi
e) eflenL egMweiisosneo

alLeeny eunghelele Wedlbgs Geflenens - JliesGamQL L
61&M60E0I60T EILIM(BEIT 6T60T60T?

a) wemeo b) 2 evsbd c) Beomey
d) Smwewrd e) elewL agMwstleosmen

1300 QU(BLRISHEDBSHS (LPEDTL| eUMLDIBG6uIT Wi?

a) &ssens b) Swdw esrssmrs
C) Smenen sbUEST d) wnewfssanssi

e) efenL egfwelisdsneo
SYLDEUMTTEHET EIDMGSLD 6T5H6em6ur GLIT?

a) 1© b) c) ©
d B e) eflewL aMweleoemnso
LDMeTOflEBeUTFSIT 6TThIG Sewmeuettie GHFHSMT?

a) dsbumb b) BmeeuswasmriimeeTT
c) dwesweomub d) Esmp

e) eflenL egMweiisoeneo
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General English (100)

Synonym of sage
a) Wiseman

d) Unwise
Synonym of yore
a) Year ago b) Dayago c) Monthago

d) Longago e) Answer not known

“Says he, “The mystery I've found

Says he, “The mystery I've found

What kind of figure of speech obtained in this lines?
a) Repetition b) Oxymoron c) Simile
d) Synecdoche e) Answer not known
Synonym of mused

a) Thought over

¢) lIgnored

e) Answer not known
Which is the one of the finest and best known novels
in english literatures by William Makepeace?

a) Vanity Fair b) St.Nicholas c) St. Brinker
d) Fanity war e) Answer not known

Synonym of mystery

a) Obviousness b) Clearness

¢) Predictability d) Puzzle

e) Answer not known

The word now in direct speech turnsto __in indirect

b) Fool ¢) Unperceptive
e) Answer not known

b) Disregarded
d) Overlooked

speech
a) Before b) Then c) After
d) Again e) Answer not known

‘He mused upon this curious case’
What is the figure of speech used in this line?

a) Simile b) Metaphor c¢) lrony
d) Assonance e) Answer not known

Direction (9-11)

10.

11.

‘There lived a sage in days of yore,

And he a handsome pigtail wore’

Who lived long ago?

a) Asage b) Ahandsome c) A begger
d) Alonelyman e) Answer not known

What did he have?

a) He had cocktail

¢) He had horsetail
e) Answer not known

b) He had ponvytail
d) He had beautiful pigtail

Pick out the rhyming words in these lines.
a) Yore - Wore b) He- Handsome
c) Days - Sage d) Pig- Wore

e) Answer not known

Direction (12-14)

12.

13.

‘Alas! Still faithful to his back’

Who Is faithful?

a) The pigtail b) Wiseman c¢) The poet

d) Ananimal e) Answer not known

Why did the poet use the word, Alas’?

a) His pride to have pigtail

b) Hissituationis horrible

¢) He criticizes the sage’s ignorance and pities him
in a serious tone, using the word ‘Alas’.

d) None of the above

e) Answer not known

14.

15.

16.

17.

18.

19.

Whose back is referred to here?

a) The back of the sage b) Theback of old

c¢) Thebackofyoung d) The back of pig
e) Answer not known

Synonym of pigtail

a) Unbraid

b) A plaited lock of hair worn singly at the back
c) Untwist

d) Straighten

e) Answer not known

And right and left and round about,

And up and down and in and out

He turned; but still the pigtail stout

Hung steadily behind him.

Oxymoron is a figure of speech. Find out example for
oxymoronic words.

a) Right - left b) In-out c¢) Up-down

d) Allthe above e) Answer not known

Who was one of the great novelists of English Victo-
rian age?

a) Henryvan dyke

b) Rudyard Kipling

¢) William Makepeace Thackeray

d) John Keats

e) Answernotknown
Synonym of curious

a) Ordinary

c) Usualthing

e) Answer not known
Who is given an important place in the history of
realistic literature?

a) Brigetle Ho

b) William Makepeace Thackeray

c) DavidlJoe

d) Danid Defoe

e) Answer not known

b) Common
d) Eager to learn more

Comprehension (20 - 24)

Hockey is the national game of India. It had a glorious past
in India. The Indian Hockey Team had won six consecutive
Olympics. But its present condition is dismal, because hock-
ey is not being given much importance. Still the banner of
hockey is held aloft, thanks to the two great players Dhyan
Chand and Dhanraj Pillai.

20.

21.

22.

Which is the national game of India?

a) Hockey b) Cricket «c¢) Football
d) Kabadi e) Answer not known
State the condition of the game in the past.
a) If had sad past

b) It has won in the present

c) Ithasa glorious past

d) It never got any awards

e) Answer not known

What is the condition of the game now?
a) Cricketis played majorde in sport
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23.

24,

25.

26.

27.

28.

29.

b) Sportisthe major factor in the life of players

c) Its present condition is dismal, because hockey
is not being given much importance.

d) None

e) Answer not known

What does consecutive mean?

a) Ordinary b) Successive

¢) Roundabout d) Selected

e) Answer not known

Who are the two great Indian hockey players men-

tioned in the passage?

a) Dravid Ganguley b) John Harrison

c¢) Dhyan Chand and Dhanraj Pillai

d) Kapil Dev

e) Answer not known

| asked Mary if she would lend me a pencil.

a) lasked Mary, “would you lend me a pencil”?

b) |asked Mary, “can you lend me a pencil”?

¢) lasked Mary, “Will you lend me a pencil”?

d) lasked Mary, “shall you lend me a pencil”?

e) Answer not known

The word ago in direct speech turnsto __in indirect

speech
a) Before b) Beneath c) After
d) Again e) Answer not known

Synonym of stout

a) Thickinstructure b) Lightin structure

c) Shortinstructure d) Fallin structure

e) Answer not known

The stranger asked Nasrin where she lived.

a) Thestranger asked Nasrin, “Where do you lives”?

b) The stranger asked Nasrin, “Where do you live”?

c) Thestrangerasked Nasrin, “Where do you lived”?

d) The stranger asked Nasrin, “Where do you
living”?

e) Answer not known

Shalini said that she

a) might come b) maycome

c) shallcome d) cancome

e) Answer not known

Direction (30-39)
Complete the sentences in reported speech.

30.

31.

32.

33.

“Itis too late.” |said that it too late.
a) was b) are c) am
d) had e) Answer not known

“I met you yesterday.” Sam told me that he had met
me .

a) nextday b) tomorrow c) previousday

d) yesterday e) Answer not known

“I cannot come.” Mala said that

a) shecan’t come b) she couldn’t come

c) shecannotcome d) shecannotcomes

e) Answer not known

“I will pay tomorrow.” He said that he would pay

a) nextday b) yesterday c) tomorrow
d) previousday e) Answer notknown

34.

35.

36.

37.

38.

39.

“The Himalayas are the highest mountain ranges.”

He knew that the Himalayas the highest

mountain ranges.

a) was b) am c¢) are

d) had e) Answer not known

“Asia is the largest continent”

Balu said that continent.

a) Asiais the largest

b) Asia was the largest

c) Asia were the largest

d) Asia hasthe largest

e) Answer not known

“I have been watching a film.” He said that

a film.

a) he had been watching

b) he have been watching

¢) he has been watching

d) he having been watching

e) Answer not known

“I' have not done it today.” | explained that | had not

done it

a) thisday b) theseday c) thatdays

d) thatday e) Answernotknown

“I was with him last week.” Jimmy told that

with him the previous week.

a) has b) he had been c) have

d) having e) Answer not known

“I'will finish this picture tomorrow.” Jothi said that
picture the next day.

a) he wouldfinish that b) he will finish that

¢) hecould finish that d) he may finish that

e) Answer not known

Direction (40 - 48)
What werre the actual words used in each instance below:

40.

41.

42.

43.

Punitha asked Pushpa what she was reading.

a) “Whatareyou reading, Pushpa?” asked Punitha

b) “Whatisyoureading, Pushpa?” asked Punitha

c) “Whatwas you reading, Pushpa?” asked Punitha

d) “What wereyou reading, Pushpa?” asked Punitha

e) Answer not known

Pushpa told her that he was reading Robinson Crusoe.

a) “I was reading Robinson Crusoe”, Pushpa told
her

b) “l were reading Robinson Crusoe”, Pushpa told
her

c) “l'am reading Robinson Crusoe”, Pushpa told her

d) “l'hasreading Robinson Crusoe”, Pushpa told her

e) Answer not known

Punitha asked her what it was all about.

a) “What was it all about?” Punitha asked

b) “What has it all about?” Punitha asked

c) “What will be it all about?” Punitha asked

d) “Whatisitall about?” Punitha asked

e) Answer not known

Pushpa said it was about a man wrecked on an island.

a) “It was about a man wrecked on an island,
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44,

45.

46.

47.

48.

49.

50.

“Pushpa said.

b) “Itisabouta man wrecked onanisland, “Pushpa
said.

c) “It were about a man wrecked on an island,
“Pushpa said.

d) “Itis has a man wrecked on an island, “Pushpa
said.

e) Answer not known

Punitha then asked her friend who gave her the book.

a) “Who gave you the book, Pushpa?” Punitha then
asked

b) “Who give you the book, Pushpa?” Punitha then
asked

¢) “Who gives you the book, Pushpa?” Punitha then
asked

d) “Who hasgiven you the book, Pushpa?” Punitha
then asked

e) Answer not known

Pushpa answered that her uncle gave it to her at

christmas

a) “Uncle give it to me at Christmas,’answered
Pushpa

b) “Uncle gave it to me at Christmas,’answered
Pushpa

c) “Uncle gives it to me at Christmas,’answered
Pushpa

d) “Uncle has given it to me at Christmas,’answered
Pushpa

e) Answer not known

Finally punitha inquired if she could borrow it

a) “May | borrowsit?” inquired Punitha

b) “May | borrowed it?” inquired Punitha

c) “May |l borrowingit?” inquired Punitha

d) “May | borrow it?” inquired Punitha

e) Answer not known

Pushpa replied that she would certainly lend it to her

a) “Of course | will lend it to you, “ replied Pushpa.

b) “Of course | can lend it to you, “ replied Pushpa.

c) “Of courselwouldlendittoyou, “replied Pushpa.

d) “Of course |l maylenditto you, “replied Pushpa.

e) Answer not known

| asked Mary, “Will you lend me a pencil”?

a) lasked Mary if she would lend me a pencil

b) |asked Mary if she can lend me a pencil

¢) lasked Mary if she will lend me a pencil

d) lask Mary if she would lend me a pencil”

e) Answer not known

She said, “The horse died in the night.”

a) Shesaid that the horse had dies in the night

b) She said that the horse had die in the night

¢) Shesaid that the horse had dying in the night

d) She said that the horse had died in the night

e) Answer not known

The teacher said, “The earth goes round the sun”.

a) The teacher said the earth goes round the sun.

b)  The teacher said the earth go round the sun.
c) The teacher said the earth went round the sun.
d) The teacher said the earth going round the sun.
e) Answer not known

51. The word last night in direct speech turns to __in
indirect speech
a) Night before b) Day before c¢) That day
d) That night e) Answer not known

52. The word today in direct speech turnsto __in indi-
rect speech
a) Night before b) Day before c¢) That day
d) That night e) Answer not known

53. The word thusin direct speech turnsto __inindirect

speech
a) Night before b) So ¢) Hence
d) That e) Answer not known

54. Ifthereporting verb isin present tense the tenses of
direct speech
a) Do not change b) Change always
¢) Change sometimes d) Allof the above
e) Answer not known
55. The word these in direct speech turns to __in indi-
rect speech
a) Those b) So c) These
d) Hence e) Answer not known
Direction (56 - 63)
Report the following sentences:
56. Pushpasaid, “Do not spoil the eco-system.”
a) Pushpasay not to spoil the eco - system.
b) Pushpa advised notto spoil the eco - system.
c) Pushpa advised not to spoiled the eco - system.
d) Pushpaasked not to spoil the eco - system.
e) Answer not known
57. Ebinsaid, “Have you booked the tickets to Delhi?”
a) Ebin asked whether | have booked the tickets to
Delhi.
b) Ebin asked whether | has booked the tickets to
Delhi.
c) Ebinasked whether | had book the tickets to Delhi.
d) Ebin asked whether | had booked the tickets to
Delhi.
e) Answer not known
58. Rehman said to Tilak, “When are we leaving to our

native?”

a) Rehman asked Tilak when they were leaving to
their native.

b) Rehman asked Tilak when they are leaving to
their native.

¢) Rehman asked Tilak when they is leaving to their
native.

d) Rehman asked Tilak when were they leaving to
their native.

e) Answer not known
59. Maha said, “Lakshan, you should get up early in the

morning.”

a) Maha told Lakshan that he shall getup early in
the morning.

b) Maha told Lakshan that he will getup earlyin the
morning.
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1A5 ACADEMY
¢) Mahatold Lakshan that he should getup early in
the morning.
d) Maha told Lakshan that he can getup early in
the morning.
e) Answer not known
60. Gladin said to his mother, “Can you, please, buy me a
hot-chocolate?”
a) Gladin request his mother to buy him a hot
chocolate.
b) Gladin requested his mother to buy her a hot
chocolate.
c) Gladin requested his mother to buys him a hot
chocolate.
d) Gladin requested his mother to buy him a hot
chocolate.
e) Answer not known
61. “Tomorrow | have to take a test in English”, said
Sudha.
a) Sudhasaidthat he had to take testin English the
next day.
b) Sudha said that he has to take test in English the
next day.
¢) Sudha said that he have to take test in English
the next day.
d) Sudha said that he is to take test in English the
next day.
e) Answer not known
62. Amali said to her sister, “l need your help to arrange
the books in the shelf”
a) Amalitell her sister that she needed herhelp to
arrange the book in the shelf.
b) Amalitells her sister that she needed herhelp to
arrange the book in the shelf.
c) Amalitold hersister that she needed herhelp to
arrangement the book in the shelf.
d) Amalitold her sister that she needed herhelp to
arrange the book in the shelf.
e) Answer not known
63. “Why don’t you use crayons for colouring?” said
Prabhu to his son.
a) Prabhu asked his son why he do not use crayons
for colouring.
b) Prabhu asked his son why he does not use crayons
for colouring.
¢) Prabhuasked his son why he didnot use crayons
for colouring.
d) Prabhu asked his son why he didnot using crayons
for colouring.
e) Answer not known
Direction (64 - 77)
Read the following dialogue and report it.

Johnson “What are you doing here,
Suganthi? | haven’t seen you since
June.”

Suganthi “I've just come back from my holi
-day in Ooty.”

Johnson “Did you enjoy it?”

Suganthi “I'love Ooty. And the people

were so friendly.”

Johnson “Did you go to Coakers Walk?”

Suganthi “It was my first trip. | can show
you some pictures. Are you doing

anything tomorrow?”

Johnson “I must arrange a couple of things.

But | am free tonight.”

Suganthi “You might come to my place. At

what time shall we meet?”

Johnson “I'll be there at eight. Is it all right?”

Johnson asked Suganthi (64) .And he
said (65) since June. Suganthi explained
that (66) back from her holiday in Ooty.
Johnson wondered if (67) it. Suganthi told
him that she (68) Ooty and that the peo-
ple (69) so friendly. Johnson wanted to
know (70) to the Coakers Walk. Suganthi
said that it (71) first trip and that she some
pictures. And then she asked him if he

(72) Johnson explained that
he (73) a couple of things. But he added
that he (74) free at night. Suganthi sug-
gested that he (75) place and asked him
at what time Johnson said he (76) there at
eight. And finally he asked (77) all right.

64. a) what she was doing there
b) what she were doing there
¢) whatsheis doingthere
d) what was she doing there
e) Answer not known

65. a) that he hasn’tseen her
b) that he haven’t seen her
c) that he hadn’t seen her
d) that heisn’t seen her
e) Answer not known

66. a) sheisjustcome
¢) shehasjustcome
e) Answer not known

67. a) shehasenjoyedit b) sheisenjoyedit
¢) shehadenjoyeditd) she have enjoyed it
e) Answer not known

b) she had justcome
d) she have justcome

68. a) love b) loves c) loving
d) loved e) Answer not known
69. a) hasbeen b) havebeen c¢) havingbeen

d) hadbeen e) Answernotknown
70. a) ifshehasgone b) if she had gone
¢) ifshe have gone d) if sheisgone
e) Answer not known
71. a) hasbeen her
c) hadbeen her
e) Answer not known
72. a) wasdoing anything the nextday

b) have been her
d) Is been her
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73.

74.

75.

76.

77.

b) was doing anything the tomorrow
¢) wasdoing anything the yesterday
d) Isdoing anything the nextday

e) Answer not known
a) have to arrange
c¢) hasto arrange

e) Answer not known
a) hadbeen b) hasbeen c) havebeen
d) was e) Answer not known

a) maycome to her place

b) shall come to her place

¢) might come to her place

d) cancome to her place

e) Answer not known

a) willbe b) would be c) canbe

d) shouldbe e) Answer not known

a) whether it was alright

b) whether it was alright

c¢) whether it was alright

d) whether it was alright

e) Answer not known

b) must arrange
d) had to arrange

Direction (78 - 82)

78.

79.

80.

81.

82.

“Who took my English book?”

He was curious to know who

a) took my English

b) had taken his English book.

¢) had taken his English book.

d) hastaken my English book.

e) Answer not known

“Where does Helen live?”

Jim wants to know where

a) Helen lived b) Helen lives
¢) Helenhadlived d) doesHelenlive?
e) Answer not known

“Why do volcanoes erupt?”

She wondered why

a) volcanoes erupt

b) volcanoes had erupted

¢) volcanoes erupted

d) didvolcanoes erupt?

e) Answer not known

“Do you know why she is unhappy?”

He asked me if ..... unhappy

a) lknow whysheis

b) youknow why she was

¢) didlknow why she was

d) Iknew why she was

e) Answer not known

“How many photos have you got?” He wants
know how many

a) photos | had got
c) photoshad | got?
e) Answer not known

b) photosyou have got
d) photos | have got

Direction ( 83 -92)

Changethe followinginto Indirect Speech
83. “Bring me a glass of milk,” said the swami to the
villagers

84.

85.

86.

87.

88.

89.

90.

a)
b)
c)
d)

e)

The swami commanded the villagers to bring he
a glass of milk.

The swami commanded the villagers to bring him
a glasses of milk.

The swami command the villagers to bring him a
glass of milk.

The swami commanded the villagers to bring him
a glass of milk.

Answer not known

“Sit down, boys,” said the teacher.

a)
b)
c)
d)
e)

The teacher ordered the boys to sit down.
The teacher order the boys to sit down.
The teacher ordered the boys to sits down
The teachers ordered the boys to sit
Answer not known

“Halt!” shouted the officer to his men.

a)
b)
c)
d)
e)

The officer shout to his men to halt
The officers shouted to his men to halt
The officer shouted to his men

The officer shouted to halt

Answer not known

“Take off your hat,” the king said to the Hatter.

a)
b)
c)
d)
e)

The king order the Hatter to take off his hat.
The king ordered the Hatter to take off his hat.
The kings ordered the Hatter to take off

The king ordered the Hatter

Answer not known

The teacher said to him, “Do not read so fast.”

a)
b)
c)
d)
e)

The teacher command him not to read sofast
The teachers commanded him not to read sofast
The teacher commanded him not to read sofast
The teacher commanded not to read

Answer not known

He said to me, “Wait until | come.”

a)
b)
c)
d)
e)

He told me to wait until he come.
He told me to wait until he came.
He told me to wait until he comes.
He told to wait until he came.
Answer not known

“Hurry up,” he said to his servant, “do not waste
time.”

a)
b)
c)
d)

e)

He ordered his servant to hurry up and not to
waste time.

He order his servant to hurry up and not to waste
time.

He orders his servant to hurry up and not to waste
time.

He ordered his servant not to hurry up and not to
waste time.

Answer not known

“Run away, children,” said their mother.

a)
b)
c)

Mother told her children to ran away
Mother told her children to runs away
Mother told her children to run away
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d)
e)

Mother told to run away
Answer not known

95. Itold them to be quiet.

91.

92.

He said, “Daughter, take my golden jug, and fetch

me some water from the Well.”

a) He told his daughter to take his golden jug and
fetch him some water from the well.

b) He told his daughter to take his golden jug and
not fetch him some water from the well.

c) Hetoldto take his golden jug and fetch him some
water from the well.

d) He told his daughter not to take his golden jug
and fetch him some water from the well.

e) Answer not known

“Go down to the bazaar. Bring me some oil and a

lump of ice.” ordered his master.

a) The matter order to go down to the bazaar and
bring him some oil and a lump of ice.

b) The matter ordered to go down to the bazaar
and not bring him some oil and a lump of ice.

c) The matterordered not to go down to the bazaar
and bring him some oil and a lump of ice.

d) The matter ordered to go down to the bazaar
and bring him some oil and a lump of ice.

e) Answer not known

Direction (93 -100)
Change the following into Direct Speech:

93.

94.

101.

102.

Nevin asked his father when the next letter would

come.

a) Nevin said to his father, “When will the next letter
come”?

b) Nevin said to his father, “When would the next
letter come”?

c) Nevinsaidto his father, “When can the next letter
come”?

d) Nevin said to his father, “When could the next
letter come”?

e) Answer not known

| wrote that | would visit him next day.

a) lwrote, “I can visit you tomorrow”

b) | wrote, “l would visit you tomorrow”

c) | wrote, “I will visit you tomorrow”

d) Iwrote, “I may visit you tomorrow”

e) Answer not known

96.

97.

98.

99.

a) |said to them, “Been quiet”.

b) |said tothem, “Be quiet”.

¢) |said to them, “Being quiet”.

d) Isaid tothem, “Be quietness”.

e) Answer not known

Lakshan asked me if | had anything to say.

a) Lakshan said to me, “Do you have anything to say”

b) Lakshan said to me, “did you have anything to say”

¢) Lakshan said to me, “does you have anything to
say”

d) Lakshan said to me, “have you have anything to
say”

e) Answer not known

An old mouse asked who would bell the cat.

a) Anold mouse said, “Who would bell the cat”?

b) An old mouse said, “Who should bell the cat”?

c) Anold mouse said, “Who will bell the cat”?

d) An old mouse said, “Who may bell the cat”?

e) Answer not known

Mervin said that he wanted to be a soldier.

a) Mervin said, “l want to be a soldier”.

b) Mervinsaid, “l wants to be a soldier”.

¢) Mervin said, “l wanted to be a soldier”.

d) Mervin said, “l will want to be a soldier”.

e) Answer not known

Ebin asked me what | wanted.

a) Ebin said to me, “What do you wants”?

b) Ebin said tome, “What do you wanted”?

¢) Ebin said to me, “What do you want”?

d) Ebin said to me, “What do you will want”?

e) Answer not known

100.Bhagya said that she had seen that picture.

a) Bhagya said, “I has seen this picture.”

b) Bhagya said, “I had seen this picture.”

¢) Bhagya said, “l having seen this picture.”
d) Bhagya said, “I have seen this picture.”
e) Answer not known

Aptitude (25)

Kannan divides a circular disc of radius 14 cm into
four equal parts. What is the perimeter of a quadrant

22
shaped disc? (use = F3 ) (cm)

S6TUTCTTEHT GT6OTLIONT 14 Q1&.15 DpTAPETET (B QULS SHLEML

[BT631@ FOLMSEMISGETTHL NASSOTT. ST Q@b HT6d QLS

22
SBLIQET SDperey sews. (@mi@ T = 7) (AT

a) 50 b) 22 c) 44 d) 46

e) Answer not known / eflenL a\gflwsisosmeo

A can finish a job in 20 days and B can complete it in
30 days. They work together and finish the job. If

Rs.600 is paid as wages, find the share of each.

a) Rs. 360 Rs.240 b) Rs. 240, Rs.360

c) Rs. 320, Rs.280 d) Rs. 280, Rs. 320

e) Answer not known

A @@ Gausmeosnit 20 B sefayb, B Gz Ceuenevenis 30
mrrsefled wieliui. oeimd CFibg Gealemed Q&I
SleuBealemevemll (plesgl H.600 & SMmISET QIHaITWTSL
QUIDMEDTIT 6eTevfled SleuGH6IT ReEUAQUNHEUHLD QLMD O\FTEns
6T6UEUEITEY?

a) e5.360 e;.240
c) em. 320, em.280

e) eflenL egMwelisdsneo

b) ep. 240, e5.360
d) es. 280, . 320

103.Find the value of /42 25

J42.25 86t bSLemLS STevors.

THOOTHUKUDI 99445 11344 | TIRUNELVELI 98942 41422 | RAMANATHAPURAM 7550352916 | MADURAI 98431 10566



106.Find the G.P. in which the 2" term is

a) 4.5 b) 3.5 ) 65 d) 25
e) Answer not known / eflenL aisfwsfisoemeo

104.If the numerator of a fraction is increased by 25%

and the denominator is increased by 10%, it becomes

2
- Find the original fraction.

R Veengdein \sn@Hemw 25% 2 b, UGHemw 10% 2_1b
. . 2 . .
SPsMssmed Sibg Lsiesrd 5 Op5 MNIBDG). eTesfled, DiFed

LN6tTevISemSE SHTeTors
48

a) 6

44 45

C)E d —

43
b) 15 125

125
e) Answer not known / eflenL a\sfwsfisoemeo

ind th d f(24) d(—32]
.Find the product o 15 an 49 )

4 2
(—ZEJ LoHmILD (_3j SpBWeUHNNEDT EILIHESHMDLIEOEHETTE

49
ST6E00TS.

5656 ;656 £ 656 656
a) 6535 B o35 ) S5 735

e) Answer not known / eflenL a\sflwsisosmen

6 and the 6™
termis 9./6 .

BB OLGEGS OBILIT auflensulicd 26u51 it +/6 HDID 6
augl 2 miiy 9.,/6 aelied Sibss OSLTEINEDEDWLS Setne.
a) V2, 6.2 b) 2. 46,3v2

0 347, V6,32 ) V2, 2,242

e) Answer not known / eflenL a\isfwsfisoemeo

107.What is the probability of drawing either a king or a

queen in a singlwe draw from a well shuffled pack of
52 cards?

BTG Hm0SH ANBEHBLILLL 52 FLBH6T O\snawL FLG8H
LR BHE KM FLE dGHGLEUNE QT BIMEFT Heo6os RIT
@grrszrzoﬂ éJso:\Ll'Ju,g,,r_i')ﬁrreoT BaD5&6)] e1sirent? 5
a) IE) b) IE) c) a d) T}
e) Answer not known / eflenL a\sfwsfisoemeo

108. Suresh wants to invest Rs.10,000 for 3 years. Scheme

A offers 8% simple interest per annum and a final 1%
bonus on the amount invested. Scheme B offers 8%
per annum compounded annually. Which scheme is
better? How much amount will suresh get at the end
of 3 years if he investes in the better scheme?

a) Scheme A is better. Amount = Rs.12,500

b) Scheme A is better. Amount = Rs.13,200

¢) Scheme B is better. Amount = Rs.12,597

109.

110.

111.

d) Scheme B is better. Amount = Rs.25,970

e) Answer not known

&Greig 10,000 hUMEDW 3 QUBHLMAIGEDRSHS WSO® G
sfl@bydpni. SrLb A aGLsShe 8% gSesheuliuiLes
SOLAWNS Wa5e0BHS 1% Gurnensv sHBEmg. B SrLb 8%
FaL® eI, QIBLESNSG R PO Ll FalLlLGSDnS.
BUetiged 618 HEveL SLLID? MBS Bevev HULHPHed WsedB
QEIeIFTE 3 SpHTBHEHSES 6T &Brep QLMD O\HTENHS
6T60T60T?

a) A sreit meveo SULLD . E\GTEWS = ¢h.12,500

b) A gneir Beveo BrLib . OGTEDS = ¢1.13,200

c) B gneir meveo SrLLb . E\FMEwS = ¢5.12,597

d) B seir meved SrLib . O\GTEDS = ¢15.25,970

e) eflenL egMweiisoaneo

A Welfare Association has a sports club where 30% of
the members play cricket, 28% play volleyball, 22%
play badminton and the rest play indoor games. If 30
member play indoor games.

M BbooFFRsSHHen eleweTwn@  WeTDSHD, 30%
2_mildflesTiiselT DU 6wLL LIenSUILD, 28% 2 milIfeissT enaLi
UbeDSWIID, 22% 2 MILILN6STT&6T LpLl LIfeDSU|LD, DHMeTS6iT
2 eTengmhi@ efememumGaHeneTub eflewemunGdsirmenrit. 30
2_miUfes &6 92_6TeTOhIS efeneTwim B &ener
sflememuT@etTmentT eTevflev,

How many members are there in the sports club?
sflemenuiM '@ LoeTMEBe0 6186ement 2 MILILNETTHET 2_6iTerTesri?
a) 150 b) 160 c) 165 d) 170

e) Answer not known / eflenL a\sfwsfisoemeo 1
How many uniforms can be stitched from 472
metres of cloth if each scout requires ZZ metres for
one uniform?
a) 23 uniform b) 22 uniform
¢) 21 uniform d) 24 uniform

e) Answer not known

R s FHOMLEGS CoHemeuwes gemwiudesr Slermey 2%
WSLLT erevfled 472 BrLi glewlulied ersHemen &pewLs6iT
SEHSHEVMD ?

a) 23 &mevLsein b) 22 &menLser
C) 21 &memLse d) 24 &mpenLsen

e) eflenL egMweiisoeneo

An electrician buys a used T.V. for%12,000 and a used
Fridge for ¥11,000. After spending 31000 on repair-
ing the T.V. and ¥1500 on painting the Fridge, he fi
xes up the M.P. of T.V. as ¥15,000 and that of Fridge
as 315,500. If he gives 31000 discount on each find
his profit or loss. (in Rs.)

R 6T6e0&L AW LIWSTUBSHSLILLL O\STEneoSSTLAL CILILIQ
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1AS ACADEMY
ReiTemOWILD, GeflTiengem UL Q6TemDUD wWPedDCW 6.
12,000 &@LD, . 11,000 &@GLD QUNTHIBETIT. E\SMEne0&:SHTL LI
eugenws gl Qg e, 1000 2 1b, Geflienseil UL eSS
aueTenTD O1FUIW eB. 1500 2.1b 6\Fevey QOFUIF LAedr
OFMEmESSTLS LIRSS eh. 15,000 WHmIb Geflit FngeorL

SeurfletT GeoMLLD 60608 [BLLE FS6iT5Hm0H HT6tus.
a) 4% loss/mrLib b) 3% loss/mrLib

2
c) 2§%|OSS/,|'_5|;LL'D d) 5% loss/mrLb

e) Answer not known / eflenL a\isflwsficoemeo

QLRSS ¢b. 15,500 eenr eflemeo Bitewmnuid QFigmT. ewew | 117.Find the median score. For the following ungrouped

ReIOaNeTM&GD . 1000 SeTEpUR QFWSTT eefled
SiQUHEBLIL GOMLILD 660G BLLLD SHmetors. (EmLmuien)

a) 4000 loss/meieLib b) 3000 loss/msigLtb

c) 4000 profit/@eomub  d) 3000 profit/@eomuib

e) Answer not known / eflenL a\sfwsfisoemeo

. 3 .3
112.Find /sem@Lile : 47 +2=

115 115
- 2——
a) 135 b ‘133
R
o >33 9 133

e) Answer not known / eflenL a\isfwsfisoemeo

6 A
113.If —=——, then the value of Ais 119.

7 49
6 A

7—5 eTevfled A @edr LDBLIL| eT6dTETT?
a) 42 b) 36 c) 25 d) 48
e) Answer not known / eflenL a\isfwsfisoemeo

114.The bacteria in a culture grows by 5% in the first
hour, decreases by 8% in the second hour and again
increases by 10% in the third hour. Find the count of
the bacteria at the end of 3 hours, if its initial count
was 10000.
R aemd unseflum, wpgeoneug @ el ChIsHe 5%
aueniigdAu|ib, GuerLneug) wewll CGrEus5Hed 8% euenisdls
SeTuib, epeiTmmeug) el GHISHe0 10% 6ueTiaAu|b
SmLEMGI. WHedled g6 ereimmemiisEens 10000 D&
BoHsg aafleo, apenn wenl CHISSHGL DG Sigein
616T0TET0N SHE0HEDWIS SHIT6TTS.
a) 10624 b) 10500 c) 10626 d) 10726
e) Answer not known / eflenL a\isfwsfisoemeo

115. Division of integers is inverse operation of
a) addition b) subtraction
¢) multiplication d) division
e) Answer not known
Pwssaier agdseonearsg

A FweSlwn@Lb.
a) sarLed b) spsse
C) eumssed d) ex@gsed

e) eflenL egfweiisoeneo

116. Vaidesgi sold two sarees for 2200 each. On one she
gains 10% and on the other she loses 12%. Calculate
her gain or loss percentage in the sales.
maIBss8, B Csemevgemen FHeom 32200 @56 sfibmmeir.
Retiletr 55 10% Qeomugenswb whHeprelesr Wa 12%
BLLSMSU|LD HeDLBST6T elelled, BFemevgenerm sflHmdHed

8 118.

120.

data 10, 17, 16, 21, 13, 18, 12, 10, 19, 22

&6 OHTB&HHLILLG6TET OFTGSSLILLTS efleurruseres
BewLBEMEO HT6ToIs.

10, 17, 16, 21, 13, 18, 12, 10, 19, 22

a) 17 b) 21 c) 16.5 d) 19

e) Answer not known / eflenL aigflwsficoemeo

The difference between simple and compound inter-
eston a certain sum of money for 2 yearsat2%p.ais
1. The sum of money is .

2% OpeT1(B QUL IQUT6ED, 2 DETNBSHEBHSHS RIT AHFNHSS HDLES
FaLBaIllpsGLD SevllalliREGD BenLGuwiwster eflgHuinsid %4
6T6u1l6D, DFEO DpeT) DbGLD.

a)%2000 b)I1500 ¢)33000 d) 2500

e) Answer not known / eflenL a\sfwsfisoemeo

A small scale company undertakes an agreement to
make 540 motor pumps in 150 days and employs 40
men for the work. After 75 days, the company could
make only 180 motor pumps. How many more men
should the company employ so that the work is com-
pleted on time as per the agreement?

@ Am O5THled BmiaeTD, 40 SpeursHenarll LeflDiss
150 mrsiaeilen 540 sflensriouny Seopliiseens (Motor
Pumps) swriigs ewpms @Ff QUUBSSDS
aB55I560HMETENG). 75 BI6TSEH5GSL Une,
SibBnelenssted 180 eflensliaum) GepmLilsener brGED
swflés wpiebss). Galeneowimens) RULIHGSSe6LI CHIsSSNE&
PRrW, FaBHONS d5HMET LTSN HbBneues LD
LetoflILDITES GeuetorBLD ?

a) 20 b) 40 c) 30 d) 26

e) Answer not known / eflenL a\isfwsfisoemeo
Statement 1 : The ratio between any two consecu-
tive terms of an A.P is always constant. That con-
stant value is called the common difference.
Statement 2 : The common difference of an A.P can
be positive only.

a) Statement 1 correct, Statement 2 wrong

b) Statement 2 correct, Statement 1 wrong

c) Both Statements are correct

d) Both Statements are wrong

e) Answer not known

sapml 1: 5aL6S OFTLIauflenguls ebs S OSMLTFSAWITeoT
2 NULSEbESmLEW 2 6Ten efl@SHD IO eT6wTEwTTS
8GseD. 8Ks wIONs e, Oung eisdwunsb’ eew
SiDP&SILGEDE).

sabm 2 : eOung esHunsoneng) Wens eretorewonts DI GED
SHemLDWLD.

a) sapm 1 &M, sabn 2 e

b) sapm 2 &, sapmy 1 seum

C) Srem® sabmiseEmh sflwneramey

d) @pew® sapmisEsD SeupreTene

e) eflenL egMwelisdsneo

THOOTHUKUDI 99445 11344 | TIRUNELVELI 98942 41422 | RAMANATHAPURAM 7550352916 | MADURAI 98431 10566



121.

122.

123.

126.

127.

A cubical milk tank holds 125000 litres of milk. Find
the length of its side in metres.

R HEUFFHIT Qlgefleonssr LITed O\SML gwimenrgy 1,25,000 60l LiT
Q&meTaTaTENENS O\&HTHIBeTeng. AHHOSTLRUieT LSS
Bengeng L Lfed smetors.

a) 4 b) 3 c) 2 d 5

e) Answer not known / eflenL a\sflwstisoemeo

The rates of simple interest in two banks A& B are in
the ratio 5:4. A person wants to deposit his total sav-
ings in two banks in such a way that he received equal
half yearly interest from both. He should deposit the
savings in banks A & B in the ratio.

A wpmibB SpBw Q@ aurdsefeir sefleuripsames
alllpuineng 5:4 er6iin 6B855H60 2 _6iTong. RMBHEUT FH60TS)
PRSOSTDsmWLID Brer® aumidseieayd Hewr eubL
QUL IQUIEBTE) FLDLDNE BHSSLDLIQUITS LNMlSg) WPS5eS® aFuIdmmT
erfled Disur WHSB OFUIS O\FHTEDSWITENF] 61bS eNHsH5H60
856D

a) 5:2 b) 2:5 c) 4:5 d) 5:4

e) Answer not known / eflenL a\sflwstisoemeo

A particular high school has 1500 students 50 teach-
ers and 5 administrators. If the school grows to 1800
students and the ratios are maintained, then find the
number of teachers and administrators.

@@ Usiterflufied 1500wnevreuiiaet, 50 SpAflwiiser wHOID 5
Breunrdser ereor 2 emenevri. Uemerflufied Lbmevoreurt 66T
aretrenflsens 1800348 2 Wibgned, GhsaL e18ssH60
assmenpdAflwiser wHNID Bieundsst SamLUl aers
SHIT6TOTS.

a) 6,60 b) 60,6 c) 10,6 d) 6,10

e) Answer not known / eflenL aisfwsficoemeo

124.The ones digits in the cube of 73 is

73 @eir sevigdayieTen eitmiserfiei GeodhaLd
DHSLD.

a) 3 b) 9 c) 7 d) 1
e) Answer not known / eflenL a\isfwsfisoemeo

125.A capsuleisin the shape of a cylinder with two hemi-

sphere stuck to each of its ends. If the length of the
entire capsule is 12 mm and the diameter of the cap-
sule is 3 mm, how much medicine it can hold? (in
mm?3)

MG LEHH GUT, @ 2 GBaarulest SHYUDPL Hewrs
Ganend Gewewibs euigeled 2_sieng)l. GLILNuleir OIbNSS Hermb
12 19.15 whmib eArLid 3 5.5 aTedfled, SPed SiewLSHHILIGLD
LDBSBET HevTDl6emTemeus; Hevura? (B1.15°)

a) 54.36 b) 77.78 c) 63.64 d) 78.92

e) Answer not known / eflenL aisflwsficosmeo

General Studies (25)

Supercritical CO, fluid is an important commercial
solvent. Why ?

a) Non-Flammable b) Inflammable
c) Highly Inflammable d) Non-inflammable
e) Answer not known

SiFBeneoDm)  HATUET-DL-IpGHmev®G Srabd @b
PHBWILDITET 6UTGSS FHUITET SHEDILILITEI. 6T60T?

a) Siubong

b) eefided Srinpmesaiguws

C) s erafiged SLLDMESEaQWIS

d) eefiiged Siupprss:

e) sflenL egfweiisosneo

The aqua regia is very active, due to the production
of the following

a) Nascent water b) Nascent nitric oxide
¢) Nascent oxygen d) Nascentchlorine

e) Answer not known

8z Srausdett JHs efleners HETEHLDES, SHLpSeTuTLeuHmIeT
615] ©_[HEUMEUG] STETT SHTETOILD ?

a) Ymefl Beweo Bit

b) e Beweo ewmLes: Spsemen®

C) Imefl [Bewmeo Sp&ez60m

d) e Beweo &Gemmiiett

e) eflenL egfweiisoeneo

128. Alloys of Lanthanides are called as

a) Misch metals b) Metalloids

c) Plate metals d) Actinides

e) Answer not known

601TIH & 6w 637 (B 8 61fl 61 2 _Geons &60606) Seleurm
SimP&SILGEDS

a) Welp 2 Geomsid b) 2 _Geomsrl Guedseit

C) 86 2 _Geonsid d) SusemenGser

e) eflenL egMweiisoaneo

129.0rgano boron compounds act as

a) Lewis acid
c) Neutral
e) Answer not known

b) Lewis base
d) Bronsted base

&ifllo GUNTMET GFTDIBIGENT ............... Db 6\FWeoLIBLD
a) eymuilshv Sisleod

C) mGBemeo

e) eflenL egMweiisoeneo

b) emuieiv smmb

d) SgmetteioLL b

130.The Urine of all animals are rich in

a) NandP
c) PandK
e) Answer not known

b) KandN
d) NaandK

Iiwevisgl 2 ulflenhiseissr AniBrasHeo OLBLOLITeTEDLOWITES
BHEHGLD Fevllbmige

a) EMIBLTER60T, LITEVLIT6N0 b) eumLrduwnb, EWIBLT2R65T
¢) umsouge, eumiLndlund d) Gemeunbd, EumLmAwib

e) eflenL egMwelisdsneo
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131.The property of Green solvent is
b) High toxicity
d) Low toxicity

a) High reactive
¢) Not recyclable
e) Answer not known
LIG6DLDE SHEWTLILITEN ..o.vovevenenen. LIGBOTL|S6M61T8> 61STETOTL Gl
a) eflewenr Seit &SS b) oi8s méasseitenn
) woERHA SHDS)
e) eflenL egMwelisdsneo
132.The pH of 0.1 M NaOH solution will be
0.1 M Gemewib emamrgrsens® senggedsit PH ereirug
a) 1 b) 0.1 c) 13 d) 14
e) Answer not known/sflenL agfiweflsoemen

d) empbs Beass6EmID

133.Give example for disinfectant drug
a) 1% phenol solution
b) 1% NaCl solution
¢) 1% Benzoic acid solution
d) 1% Chlorofom solution
e) Answer not known
S prdlesilwng LWETUGLD SHepIged 618 ?
a) 1% Nevred SHewIsed
b) 1% Gemeuib GGemenI® HewIFed
C) 1% QweiEmuils Sislevld Hemmsed
d) 1% @&CemGInSUNTID Henraed
e) eflenL egfwelisdsneo
134.Disinfectant used for domestic and hospital use is
b) Chlorol
d) Chloramine

a) Lysol
c) Salicylol
e) Answer not known
si@seflaylb, Ww@SFeuDmeTaHaiayb LWTUGSHID HbL
mrélesflufiesr QWi eredteor ?
a) eweoamed b) &Gemmmed
C) smeddleomed d) &Gemmusesr

e) eflenL egMwelisdsneo
135.Which inorganic gas is used as anaesthetics ?

LDWI&S LD(BBSTS LIWeTLBLD S6vfllD eurmu| erg) ?

a) N,O b) NO,

c) NO d) N0,

e) Answer not known/sflenL egfiweflsoemen
136. Among the following, which one is the mixed fertiliz-

er?
a) Urea b) CAN (Calcium Ammonium Nitrate)
c) NPK d) (NH,),SO,(Ammonium sulphate)

e) Answer not known
NetraugpeuemTau 6L 618 &6vLIL| &_[IiD

a) upfwm

b) CAN (smeodlwib SibGonesfluid eomrGrL)
c) NPK

d) (NH,),SO, @ibGwmesiiwib s60ELL)

e) eflenL egMwellsdsneo

137.Which of the following is the most acidic ?

a) Milk b) Tea

c) Coffee d) Soda

e) Answer not known

LNstTeugBeueTTOIDMIET 6151 LASEID HLS60SS6TENLD QUMLITESS] ?
b) e c) smd d) Gsmnm

e) eflenL egMwefisoeneo

a) umed

138. Which among the following is not nitrogeneous fer-

tilizer ?

a) Calcium ammonium nitrate

b) Urea

¢) Super phosphate of lime

d) Calcium cyanamide

e) Answer not known

LNetraugpeuemTau6d 615 EMIHLTERET HEVEOMS ©_[JLD

a) smeodlwib SbGresfiwib eoBLGIL

b) wprwm C) ULt LmeGLIL. S6ToTevoTmibL
d) snmeodlwb swememr  €) eflenL egMweflsdeneo
139.Which is a metal ?

a5 @ 2 Geonsd ?

a) Br b) O c) Ne d) Hg

e) Answer not known/sflewL esfiwefibenso
140.1sobars are atoms having

a) Same mass number and same atomic number

b) Same mass number and differentatomic  num-

ber
c) Different mass number and same atomic number
d) Different mass number and different atomic
number

e) Answer not known

2CHFMUNMTSHEIT GTEITLIEMEY ............ C\GMETITL. G556 DbGSLD

a) ®Cr Bewm eretr HMID ST Jiewwy eT6Ton

b) @Gy Bewp eretor HMID GeumiLrL Siewwy eretor

C) GeumurL Bew ereior LHOID RCT ey erevor

d) GamurL Beom eretor wHMID GeumILIEL e 6TeTor

e) eflenL egMweiisoaneo
141.Which is not identical for an atom and anisotope ?

a) Number of Protons

b) Number of electrons

c) Number of Neutrons

d) Number of energy levels

e) Answer not known

Slgmieflgyd e2GFMELMIINGYLD 618 QETDIGLITE BHSSHNGI ?

a) yGom Lnesraeetr eretoreuolaems

b) eevsinmeitaeeir erstorentidens

c) Buronersefiei ereremisems

d) Suimed wrLrsefler eretoremnfisams

e) eflenL egMweiisosneo
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142.

143.

144.

145.

146.

The colour of methyl orange in acid solution is

a) Orange b) Red c) Blue d)Pink
e) Answer not known

Siblevd; HenTFEdled EIDSHE0 ShTehdletT BmLd

a) Onrers b) sy
c) Beod d) @enepdeuiy
e) eflenL egfweiisoaneo

According to Bronsted theory co§* ion is
a) Base b) acid
¢) neutral d) electrophile
e) Answer not known

LNpTeBTevLL. E\&TETEmSLILIIQ CO? Siwevfl eTetTLIS)
a) smb b) @udeoid
C) mGBemed d) erevgLpmeit seut QMBS
e) sflenL egfweiisosneo
“Nitrochalk” is

a) a fertilizer b) an explosive
¢) a medicine d) aninorganic polymer
e) Answer not known
OBLGINEFNE0S 6T60TLIS

a) eme_mb b) em aeugaLnmst
¢) e® wEHs d) ®® sesfibll LeoLig

e) eflenL egfweiisoaneo

Which one is molecular acid according to Bronsted
Lowry concept

upnettevLL - Qeverfl O\&meTemsLIQ 6HS RETM SHdleo
epevs:sam| ?
a) HF b) NH; c) HSO; d) HPOZ
e) Answer not known/sflenL egfiweflsoemen

Water is an example for
a) Electrophile b) Free radical
¢) Nucleophile d) Neutral reagent
e) Answer not known

B, SpSHSHETILeUDNN6D THDHS L_STTEwILD

a) eeosLINel Heuit et D) seofl 2 myliy

C) amssar eUNmsT d) mEBsweo smrevel]

e) eflenL egMwelisdsneo

147.The pH of the fresh milk at 28°C

148.

149.

150.

aeuliuBeneo 28°C @mséeb Gung LHw umedlesr PH iy

a) 6.2-6.4 b) 6.5-6.7

c) 7.2-7.4 d) 5.2-5.4

e) Answer not known/eflewL egfiweflsosmneo

Metals belonging to the same group in the periodic
table are

seflp auflens i Laienswruiler @Cr OsnGImwE Cainbs

Sevflbrhigelt
a) Be, Ca b) Be, Na
c) Be, Cu d) Be, Li

e) Answer not known/sflenL egfiweflebenso

Primary standard solution used in acid-base volumet-

ric analysis is

a) Sodium ethoxide

b) Potassium acetate

c) Sodium phenoxide

d) Potassium hydrogen phthalate

e) Answernot known

SiLleo-&NTT LigHLD6sTN LGLILIMLEA6D, (LpS6d [Bemed SLL&&:emraed

a) Gemewib RETEEmEUL

b) eumLrfuwib HHGLL

c) Gsmouib Sevmsems®

d) ewumLrdlwib epamr peseir sMGeoL

e) eflenL egMweiisoaneo

The source of enormous energy of sunisdueto

a) Fusion of deutrium and tritium

b) Fission of tritium to form helium

c) Fusion of Hydrogen nucleito form helium nucle-
us

d) Fission of uranium

e) Answer not known

gilwelesr SHs Alema] SHHMEO EPEOSSDHSTEN &TT6UOTLD

a) uyprfuib wHmIb rpuIb SeneTTeugTed

b) eftipuib Nereybmy enfeSluib SewLiiLgTeo

C) emamome 2 Lam Swenihg anffedwid SenLliLgTed
d) werefwb Weriiugmed

e) eflenL egMwelisdsneo
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